il
W
St
%
I

1. TE4
THE4 EhE 4 2 B XE#RE T H
T4 (B) ZHERRREAENT R e
() Fos L RAE Y ) || W] & 22 5
2. THEHNE
1)  HEI4 FomE I EE AT RS R
2) £ I & B HHMERr T
3) T Eiij] 137H R H %0 64107 7H
= SFn T 2H20H
4) TEyE

SR ST KR S W )




il
W
>
%
I

THE4 | EiE4 2 BREHRETLE

TEHX4y « Tfd - FER B Az W B & HH i il R
JE BEHERT 2 1 10, 180, 860
X R T = 1 8, 397, 900
QN = 1 8,397,900 | A =K Hi#E 19, 000 m
AR TFE) FE5 15cm JEL. Smm R PEAKEESH
i =X R 2,000 m
W FE) KEI-FE5 0T 1bemdfiAm (AR 2
1. 5mm HEAKPEEHEME
A Y 1 1, 782, 960
AEEHE T Y 1 1,782,960 |AZ1HFEEZH S 24 AR
RBFHEEHE 96 AR
[ERAE Xy = 1 10, 180, 860
IR 2 1 2, 131, 000
BISTIGE: = 1 158, 000
BGRESGESE (5 L) = 1 158, 000
B (FEHL) = 1 1,973, 000
T = 1 12, 311, 860
Bl gy 2 1 7,001, 000
T =5l = 1 19, 312, 860
— R A 2 1 3, 987, 140
TS 2 1 23, 300, 000
-1- B LA TSR R




